
Infinite
number

of solutions (1, 14) (−12, −5) (−2, −25) (0, 0) (−5, −11) (10, 7) (8, 6) (−3, −9)

No solution (2, −4) (3, 17) (6, 4) (−10, −5) (−1, −7) (11, −2) (−1, −7) (7, 1)

D              A          E         T         G         R         L          O         A        

C           Y         B         J          P         M         A         N         A       
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Name Date

SYSTEMS of EQUATIONS: Substitution Method

18    10          1      12   8    5    9       3     11     17

What does the Little Mermaid wear???


